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% ruby --enable=frozen_string_literal \

-e 'p "".frozen?'
true

% ruby --disable=frozen_string_literal \

-e 'p "".frozen?'
false
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% cat a.rb

#!/usr/bin/ruby

# coding: ascii-8bit

# frozen_string_literal: true
p ''.frozen?

p ''.encoding

% ruby a.rb

true

#<Encoding:ASCII-8BIT>
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% ruby -e "2.times { p ''.object_id }"
16501180

16501040

% cat a.rb

# frozen_string_literal: true

2.times { p ''.object_id }

% ruby a.rb

11393540

11393540
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% ruby -e "2.times { p ''.freeze.object_id }"
16865720
16865720




% cat a.rb

# frozen_string_literal: true

S = LR}

s << 'x'

p s

% ruby a.rb

a.rb:3:in “<main>': can't modify frozen String (RuntimeError)
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cat a.rb
frozen_string_literal: true
= "".dup

<< 'x'
S

ruby a.rb
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cat a.rb
frozen_string_literal: true
= String.new

<< 'x'
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ruby a.rb
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cat a.rb
frozen_string_literal: true
"' .dup.frozen?

"' .dup.encoding
String.new. frozen?
String.new.encoding
ruby a.rb

false
#<Encoding:UTF-8>
false
#<Encoding:ASCII-8BIT>
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% cat a.rb

# frozen_string_literal: true
p 'string'.frozen?

p "string\n".frozen?

% ruby a.rb

true

true
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% cat a.rb

# frozen_string_literal: true
p "#{1+2}".frozen?

% ruby a.rb

true
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% cat a.rb

# frozen_string_literal: true
p ?a.frozen?

% ruby a.rb

true
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% cat a.rb

# frozen_string_literal: true

p [%q(q), %Q[#{1+2}], <<END].all?(&:frozen?)
#{1+2}

END

% ruby a.rb

true
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% cat a.rb

# frozen_string_literal: true
a = %w[a b]

p a.frozen?

p a.all?(&:frozen?)

% ruby a.rb

false

true
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cat a.rb
frozen_string_literal: true
= "c d"

= %W(Ca\ b #{vie\sf #{})
a.frozen?

a.all?(&:frozen?)

ruby a.rb

false

true
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% cat a.rb

# frozen_string_literal: true

p “echo .frozen?, %x(echo).frozen?
% ruby a.rb

false

false
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% ruby --dump=insns -e
= disasm: #<ISeq:<main>@

0000 tra 1 C D
0002 pu t t ing "
0004 lea
% ruby - d insns -e """.freeze
== disasm: # IS eq:<main>@-e

0@00 tra 1 C D
0002 o pt t _freeze "
0004 lea
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% ruby --enable=frozen_string_literal --dump=insns -e '"".freeze'
== disasm: #<ISeq:<main>@
Q000 trace 1 C D
Q002 opt_str_freeze

0004 leave

% ruby --enable=frozen_string_literal --dump=insns -e '""'

== disasm: #<ISeq:<main>@-e:
0000 trace 1 C D
0002 putobject "

0004 leave
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